CRYPTOQUIP
KTXMUV GEGTUHS ZWCME XHNM

DSHLQKWIM JKEIM QKHSHQPMSI
IUEJUV CMZMUEG GIVQKWQ

GEJMSI: NWLCQSHDP.

Saturday’s Cryptoquip: IF A PIECE OF FOLIAGE
IS TEMPORARILY MISSING FROM ITS TREE,
MIGHT THAT BE A LEAF OF ABSENCE?

Today’s Cryptoquip Clue: G equals P

The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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